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d(G o F)(x) = dG(F(x))dF(x)
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d(F)(F(x))=dEDODODOODOOODO?

d(F 1) (F(x)) = (dF1(x)) ' 00000000000
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d(F™) (F(x)) = (dF(x)) .
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D;:{(r,a) ‘r>0,—%<0<g}, U= {(x,y)|x > 0}
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F(r,0) = (x,y) x(r,0) =rcos@, y(r,0)=rsiné.
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_ | or 99|  (cos® —rsind
dF(— dF(r,G)) - a_y ay — (sin@ rcosH) .
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D := {(r,@) ’r>0,—g<9<g}, U:={(x,y)|x >0}

F(r,0) = (rcosf,rsing)  Glx,y) = (V> +y2tan %)
Doooo
FoG(x,y)=F(G(x,y)) =F (\/XzTyz,tan—l %)
= (VX*+y?costan™" i—/ VX2 + y2sintan? %)
=(x,y)=idy(x,y) (DOO0O)
G o F(r,0) = G(F(r,0)) = G(rcosf,rsind)

= (\/(r cos )2 + (rsin#)2,tan™ ! Ln@)

rcosf
=(r,0)=idp(r,0) (ODDD)
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Di={(n0)|r>0-T <0<}, Ui={(xy)lx>0}
F(r,0) = (rcosf,rsinf) G(x,y) = (, /2 +y2,tan_1 %)
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d(F o G) = (dF)(dG)  d(Fo G(x,y)) = dF(G(x,y))dG(x, y)
d(GoF)=(dG)(dF)  d(G o F(r,0)) = dG(F(r,0))dF(r,0).
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d(FoG)=didy=E d(GoF)=didp=E E:(é?
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(dF)(dG)=E, (dG)(dF)=E (G=F71)
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dG =d(F*) = (dF)™*
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F(r,0) = (rcosf, rsinf)
G(x,y) = (\/X2 +y2tan”? i—/) =F(x,y)
goon

_(xr xo\ _ (cos —rsin@
dF(r’H)_<yr y9>_(sin0 rc050>

x y
2 2 2 2
dG(x,y) = (r rbx 6,) = \/X_;ry \/Xx+y

x2 +y2 x2 _|_y2
ggoon
dF(r,0) = (dG(rcos®,rsin 9))_1,

dG(x,y) = (dF (W, tan~! i’?))_l
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Cassinian Oval

Fix,y) =2(x —y*) = (< +y*)? —a, C={(x,y)|F(x,y) =0}
a=
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Cassinian Oval

Fix,y) =20 = y*) = (C +y?)? —a, C={(x,y)|F(x,y) =0}
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Cassinian Oval

Fx,y) =20 —y*) = (x*+y*)* —a, C={(xy)|F(x,y) =0}
a=o
y
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Cassinian Oval

F(x,y) =20 = y?) = (* +y*)* —a, C={(x,y)|F(x,y) =0}
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F(x,y) =2(x* = y*) = (** + y*)* — a,

a=3
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C={(x,y)| F(x,y) =0}
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Cassinian Oval

Flx,y) =2(x*-y*) = (* +y*)* —a, C={(x,y)|F(x,y)=0}
a=4
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